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T [5-Uny_n/h N%50 hwp | 800 | 213333 10666,7] 12800|2kpuhuk pwpdtg | 3250,67] 16253,3| 19504 Lunnuh
2 Unnpbuwihuh hhnpnpinphn. . 0,18% N¢10 uptwly 120 26002 13001| 15601,2| Lunwih Swunpd 2780 13900 16680(Ymqu pupad
3 Ughdwly n/y 250uq N6 hwp 48 496 2480 2976 Luunwh pauml 800 4000 4800|dwqu puapd
4 lughuwy n/uj 5000q Ne3 hwp | 120 | 11000 55000] 66000 mqu pupd 11400| 57000 68400|2kpuhuik $upitg
S [Ujpnudhl imidnype 10% 50 byt | 12 0 0 0 0 0
6 Upnighn 20% Sup Net $lwlynt 5 375 1875 2250 378 1890 2268 | Lwwnwh bwpd
7 |Ujprighn thnoh 0,5 N#10 thuptp | 300 500( 2500 3000[Iwmqu § 770f 3850 4620 L $apd
8 Uywnb cowpwly 5% 125q lulynt 15 1509,13| 7545,63| 9054,75| th]uwnty ppal | 1621,95( 8109,75( 9731,7|Lwwnwh duapud
9 Usnifu whinhdwgywsd n/h 0,25g N=10 huwp 600 748 3740 4488 Luinwmih Suipd 1000 5000 6000|zkpuhuk $updtg
10 JUuydw Uwphu gnnuishe peh 304; Bt | 5 875| 4375  5250|2kpuhuk $updtg 0 0
1 Uyuindtight . 80dq 2dj N=25 upyuly 125 | 8645,83| 43229,2] 51875 Lwwnwih $wpd 8854,17] 44270,8 53125|dwmqu pupd
12 Uywnytightu dnpunti n/h N250 hwp 100 | 4116,67| 20583,3| 24700| Lwiwwih Jupd 4833,33| 24166,7( 29000|wiqu Hwpd
13 |Udhunuwpnuwpeent |nidnyp 5% 2500;  [puwynu [ 20 [ 1733,33] 8666,67| 10400[Luinuih pup 2933,33| 14666,7| 17600 wqu pupd
4 TUdhnnuwpnti n/h 200dq N=30 hup | 390 | 4608 5| 23042,5| 27651|2kpuhub pupdbg 4615 23075 27690 Gunnwyh pupd
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'S |Udjnnhwht n/h 10dg N30 hup 900 1350]  6750]  8100]Zkpuhik pupiikg 4125] 20625] 24750[4wmqm $upi
16 {Udnpuhljwy n/Ywfunyme 156,25dq/5d 1004] |puynu | 40 | 8213,33] 41066,7| - 49280 Lunuih uapdl 8466,67| 42333,3]  50800(wmqu Hupd
17 Udnluhlywy 312,50q/50] $npink 1004 ppulnu | 40 16626.7| 78133,3] 93760|Luwnwh duipi 18600 93000| 111600|“wmguw $uipd
18 |Udnpuhghihti opwipwly 250dq/54; 1004 Sy | 20 3140 15700] 18840|uvuwnnwih dupd 4333,33]| 21666,7| 26000f<wmgu: dwpud
19 1Uduhghihts W/t U /4 upy. 0,5q puuynt | 70 | 1507,33| 7536,67| 9044 |Lruwnuyh $upd 0 0 0

20 Udwh-bhiyn n/wy 500dg N=10 hwp 700 3500( 17500] 21000|dwqum pupd 4013,33| 20066,7 24080 vuwnwh dupd
21 |Uwnphlyuwt 250g N 8 huip 24 | 1038,12| 5190,6( 6228,72|/thiumnkp-Lunippnt | 1187,04] 59352[ 7122,24[Cunnwgh pupu
22 Utwights . 50% 2] Ne10 upduy | 2400 11760 58800| 70560|vwwnuh $wupd 12000 60000| 72000|4wqu Hupd
23 |Utwight n/h 500tig Ne10 hwp | 2000 1890 9450 11340[Lwwnuyh upd 2000 10000 12000[dwqu $upu
24 Ubiwuwnpngnp Yy 1 n/h 1dg N=30 hwp 300 21950 109750 131700|<Lwqu pupd 22100] 110500 132600|Uwnuih upud
25 |Uuwwphihtu n/h 40Ug N=50 hup 150 68,25 341,25 4095 Lwwnwih pupd 125 625 750|dwmqu $upd
26 |Uughunwq 204] gnnuohp huin 5 | 1877,09] 9385,46| 11262 6| thhnnbp-Lunippnt | 1969,03| 9845,13] 11814,2[ Lwwnunh $upd
27 |Utmigny dndhly Ne10 gndhy | 110 | 981,75 4908,75| 5890,5|Lwwnwih dupd 1283,33| 6416,67|  7700|dwqu wpd
28 Uunipwnph uwhpun jmidnye 22hly 304; blwlynu 20 310,8 1554 1864 8| Lunnwh Supd 333,333| 1666,67 2000 | dumqu Juapd
29 [Uniquibiinhts nih/u 1,2g Ne10 punu | 140 | 29633 3| 148167| 177800|dmqu $uipu 30380| 151900| 182280[Lwnunh pupi
30" |Unigubiiinht n/h 625ug Ne14 hup 140 | 2753,33] 13766,7] 16520 Lwnuh $up 2776,67| 13883,3|  16660|2kpuihitk pupitg
31 |Uwhquepnt punily 20q wupynd 7 | 2558,5] 12792,5] 15351 | Vuwnunh hwpd 2683,33[ 13416,7|  16100[dwqu upd
32" |Uwn-Yinwhnngpb n/h 75dq N230 hwup | 300 5150 25750 30900 Lwuwwih $upd 7450| 37250 44700[dwqu upd
33 |Uubnpphtwpent wiuy. 5% 20) N¢10 unquyy | 4250 | 17602,1| 88010,4] 105613|Lwnunh upd 17708,3| 88541,7| 106250(dwqu pupu
34 ;Il:tl}nﬂphuwm&m W PEERSR hwp 600 500 2500 3000(dwqu $wpd 608 3040 3648} Lunwth $upud
35 Uulynpphtwppent n/h  500dg N220 hwp 360 1452 7260 8712wy h upd 1500 7500 9000 wgqu dupil
36 Uuwhphti Ywpnhn n/h 300dg N220 hwp 140 728,7] 3643,5| 4372,2|Lunumuih upd 758,333| 3791,67 4550 dwmgu dupd
37 Uwnwpwpu p/uy n/h 25ug N225 hwp 375 | 3038,13| 15190,6| 18228,8| Lwnuijh wpid 4125| 20625] 24750|dwqu hupd
38 |Uwnbunn| n/h 50uq N*30 hup 420 273 1365 1638[dwqu Ppupu 280] 1400|  1680[Ztpuhuk dupiitg
39 |Uinpnughts 0,1% 14y N 10 upduty | 350 3500] 17500] 21000[Cuwnnunh puipu 4083,33] 20416,7| 24500|dwqu pupd
40 |Uwinnphu p/uy n/h 20dg N=30 hup 360 3420] 17100 20520|dwqu $upd 5073| 25365| 30438[vuwnuih $rumi
41 Uwnnphu p/w rn/h 10dg Ne30 hwp 240 1600 8000 9600 (dwmgu Pl 2320{ 11600 13920{ Lwwnwih dwupd
42 |Upnnuwt 4dg N=25 upduy | 25 3192 15960 191521t Lunipy 3739,17| 18695,8] 22435 Lwnuih $up
43 Uph$nu nbitnwpn 1,58 N30 huwp 120 868,2 4341 5209,2|Lwwnuih uupa 2000} 10000 12000 <wqu pupd
44 Szmhuwjhbh hALALL L i st | 15 3888| 19440 23328|Uwuunh Puipd 4000| 20000| 24000|Twqui Hupl
45 tl:lﬁ?lfsjh:j{i{i?]?]dq* 500[50” U‘”"””“"‘hl‘lb hwp 200 5500 27500 33000 mgu Huapal 6111 30555 36666 | Lunuh dupd
46 Ugbiinhjuwihghjwpeent n/h 0,5 Ne10 huwp 400 | 326,667| 1633,33 1960 Twmgu Sunul 377,333| 1886,67 2264 | vunnuh bwpd
47 |Ughlyndhp punily 5% 5q wwpymd 5 | 222,267| 1111,33] 13336 thjuwbp-Lunippni | 291,667| 1458,33]  1750|dwaw Huipi
48 |uss n/thngh . 200dg N220 thwpkp | 60 850 4250 5100| L $upd 980 4900 5880|dwiqu Juipd
49 [uss (ndynn n/h 2000g N=20 hwp 80 | 973,333| 4866,67 5840| Lunnwah uwpd 1160 5800 6960|dmgm dupd
50 |Upphnni 1004g N 10 hup 100 6300 31500 37800fLwinwih drpi 6333,33[ 31666,7| 38000|<dmqu $upd
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51 Pwluphud-240 opwipwly 240dq/5d) 1004} $ulynu 20 1366,67| 6833.33 8200 zkpupuk bupikg 2500 12500 15000|dmqu $upu

52 Pwpwigbnwu 5d) N5 upquy | 460 | 10501,8] 52509 63010,8|Lwinwih dupd 10733,3] 536686,7 64400 dwgm dupd

93 | Phughjwbiuhghthu  nh/u 1000000UU $uynu | 150 2071,5| 10357,5| 12429|Lunwih dupd 3300{ 16500 19800(zkpuhuk pupukg

94 | phughjwtthghtht G nth/u 500000000  |{$unts | 20 0 0 0 0

95 Pwnwnht (nidnye 22hy 10% 304; byt | 10 1050 5250 6300(<wgqu Hupd 3048,2| 15241 18289,2|irhjuwnbp-Lunippni

56 Pawnwnnpt jményp 22hy 10% 1) $uynu | 15 8325| 41625| 49950/ wuwih hupd 12250| 61250 73500|4wmgqu pupd

57 | Pnwynnht ndnype 22hYy 10% 604 puuyn | 30 2775 13875 16650[Lwwnugh Hupu 4400 22000] 26400|4umqu pwpu

58 | Plunwubiply n/h 24ug N°60 hup 120 1371] 6855  8226{Lwwnwih wpl 1540 7700  9240[dwqw dupi
Ptiphwphp wynw 10/25

59 hwp 360 | 3718,8| 18594| 22312 8|Lwnnwih dupd 3977,33]| 19886,7| 23864|thjuwnkp-Luwippnt

o0 Phuwynnhy n/h Sdg N=30 husp 210 245 1225 1470 Jmqu pupd 281,05| 1405,25| 16863 | Lunnuh hupd

61 Phuwlynnhy dndhly Ne10 dnuhly 240 1873,6 9368| 11241,6|Lwwwth bwpd 2160( 10800| 12960|“wqgum dupd

62 Phubiuynn n/h 480ug N=20 hwp 260 | 368,333| 1841,67 2210|2kpdhuk dupdkg 501,367 2506,83| 3008,2|Lunmyh dupd

63 Ppnufunihinht opwpuwly 1254 byn | 25 | 1953,42| 9767,08| 11720,5[Lunnuh dwupd 2166,67( 10833,3| 13000|dmqu $upu

64 |Ppndhtipuht 8 Phinjhu-RLdh 8ug N225  [hwp | 300 141 705 846 [ Luwnuh puipu 170 850  1020[dwqu Pupu
Pnuyhwlwiht Uyhtw 0,5% <byh 44;

65 Ne5 uptjuwly 50 | 9958,33| 49791,7| 59750 Lunnwih dupd 10097,5| 50487,5] 60585|Mthhankp-Lundppnt

66 |9tinkihlju hwgh hwdwp 100 pwynt | 30 | 12295,3| 61476,3| 73771,5| Lwnwih $wpd 13000{ 65000 78000(-lwqu $upd

67 |qbuunwiihght . 4% 80dqg/2u) Ne10 upduy | 200 | 2071,67| 10358,3| 12430 Lunnuwih $wpd 2166,67( 10833,3|  13000[dwqu $upd

68 Iqbipswljh jnin 304 puaynt [ 10 198 990  1188|Vwnwjh dupd 333,333[ 1666,67]  2000|wqu $uwpd

69 Shuhujpwy U/t J10dYq./2d) N=5 upduyy | 100 7750 38750f 46500|Lunnwih bupd 8173,67| 40868,3] 49042|thhuwnbp-Lunippnh

70" |q9huhwypuwy 0,50q Ne20 husp 60 0 0 0 0

71 SHhwnpiht . 1000dq 44U} N=3 untuly 15 1075 5375 6450) dmqu upd 4950 24750 29700 Lunnwih pupd

2 q-lhghuhr]_ q,/h 0,1(1N950 hwp 150 13525] 67625 811,58|thjuwbp-Lunippnh 345,25| 1726,25( 2071,5|vwwnwih dupd

73 |qihgkiphu Undhy 1g Ne10 dndhy | 70 945 4725  5670|Uwwnwih dupd 1050] 5250  6300]<wqu pupd

74 |9hgliphu Unuhy 2,11 N°10 andhy | 80 1120]  5600] 6720[Lwnwih $upd 1200] 6000  7200[vwqu Pupi

75 Shgbtiphu 30q $jwlint 10 200 1000 1200 <wmguw dupd 210,633| 1053,17| 12638 Lunnmh bupud

/6 Qyniynqu 40% 5dy N10 upduy | 150 816,75( 4083,75 4900,5|vwwnwih dwupd 825 4125 4950 Lwgu pupd

7 |9yniynqus 5% 2504 wthwe| 500 | 20833,3] 104167] 125000fUuiniuih Hrpid 25000[ 125000 150000 mqu $up

/8 |qyniynqui 10% 2000} rE 910] 4550]  5460|vwnunh pup 0 0 0

79 Fyniynqu 5% 500LI|_ upthwp | 600 260001 130000f 156000|Uumnumh upd 30500( 152500f 183000|9wmqu: pupd

80" [qyniynyuitiu n/h 5001q/2,50aq N230 hwp | 1250 | 9914,58] 49572 9] 59487 5[ Lwnnuih huipu 10443,8| 52218,8| 62662,5|( hjuwtip-Lunippnt

61 Gyniynywiiu n/h 500dg/5dg N=30 huwp 1800 16231 761585 91386 Lwnuh Suipad 16086 80430 96516 (thjumbp-Lusdppnt

82 Snunwiwpu 7,5dq/d] 304; Pruynt 3 1496 7480 . 8978|Luwnuwth dupd 1547,82f 7739,1| 9286,92|}!

83 QPEUJLUPIIU QUI‘H.L{ 25 q wpplnd 5 421,458| 2107,29| 2528, 75| Luinuih dupd 416,667{ 2083, 33 2500 g Jupu

84 |wwlphu ppnun 300dg  N=100 huwp 900 | 13200| 66000| 79200|Zkpuhuk pupibg | 15868,5 79342,5] 95211|Lwnwih bupu

85 Haupwitipu N 60 nh/pwnuipwujwwn hwp 780 | 103454 51727 62072 4| Lwinwih dwpd 10388,3| 51941,5| 62329 8| thjunkp-Luippnt

86 Hipuwdbtipwqgnt 4dg/ug 10 Ne10 upquy | 800 | 6533,33| 32666,7| 39200|Lwwnuijh upud 6666,67| 33333,3| 40000|“wqu $upd
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87 ;}E‘Quwdbpqub URULRIL BN Teih upyuily 5} 308,333| 1541,67 1850 ztpupuk $upitg 426.05| 2130,25] 2556,3|Lwunugh Hupad
88 THhuwtb-35 n/h Ne21 hwp 42 1239,21| 6196,05| 7435,26|Lwwnwih puapl 14329| 71645 8597 4|dwmqu dwpd
89 Yhuwpbunnu UM 60dg N30 hwp 1200 13200] 66000 79200|9wqu $up 23000{ 115000 138000fLwwnwih pupd
90 [Yhpwqn 1% 20 N=10 upduly | 500 1960 9800] 11760 Guunuy]s rupd 2000] 10000] 12000|<wqu pwpd
91 thgnpuht n/h 0,25ug N°50 hwp 500 | 476,667| 2383,33 2860 Lwuwmth pupd 491,667| 2458,33 2950 Hwmqu upd
92" | hwwnpbiin n/h 25dq N230 huwp 360 | 13332 6666] 79992[vuwwnwih upd 10478,4| 52392 62870,4|<wqu pupu
93 [hjwwnpbtin n/h 12,5 dg N°30 hup 90 2916| 1458 17496[Cunnuh pupu 540 2700]  3240[wqu pupu
94" [ hlywly nntignn 5% 50q wunind 25 | 3908,33| 19541,7| 23450 Lunnunh pupd 458333 22916,7| 27500|dwqu pupd
95 | thiyn$hiiwly 75dq 3up Ne5 upquy | 700 9800| 49000 58800|Lwnwih $rpi 11666,7| 58333,3|  70000[<wqu Puipd
96 |hiyndbuwy n/h 50dg N220 hwp 200 340  1700]  2040[vuwnnuh prp 566,667| 2833,33|  3400[<wmqu pupd
97 THhyindbitwy dndhy 5S0dg N=6 undhly 60 695,5| 34775 4173|thjuwnbip-Lundppat 862,4 4312| 5174, 4{vunnwmih dupd
98 [hubtinpng 1% 1u) Ne10 unduly | 3500 | 11433,3] 57166,7| 68600|Luntnuh pupnu 11666,7| 58333,3|  70000|wqu pupt
99 | hghunt . 2504dq 2d; N=50 upduy | 550 | 13405,3| 67026,7| 80432|Lunnmih $wpu 13750| 68750| 82500|4wqu $mpd
100 Yhehiht 20dg/d; 54 Nel0 upduy | 110 | 2470,23( 12351,2| 14821 4 Lwnwmih Hupd 0 0
101 |qhopupnht  50ug/5u] Ne10 upduyy | 50 0 0 0 0
102 | ynuuywunwiht 200dg Ne 30 hup 60 | 1431,1] 71555 8586,6[Lunuh pupd 1800/ 9000[ 10800[dwqu pupud
103 | yniuigwly opwpwily 2004 plwynu | 15 4667,5| 23337,5| 28005|Lwwnwmih bupd 6000| 30000f 36000|<9wqu Hwpd
104 "Hnibwiuwily opwpwly 5004} Huwynu | 15 | 11371,7| 56858,6] 68230 4| Lwnuwih dupd 12446,8| 62233,9 74680,7| (*hhuwnkp-Lutdppnb
105 [ ynipwunnti n/n 10dq N220 hwp | 300 | 14400] 72000 86400|UCwwnuh pupd 15500| 77500] 93000|dwqu pupd
106 [ pyeadhbw n/h 500G N°10 huwp 20 | 436,667| 2183.33]  2620[dwqu $upd 438]  2190] 2628 Cwwnunh pupd
107 |%lwphu 150 dg N1 huip 10 | 1136,8] 5684 6820,8[Nhjuwnbip-Lunippnt | 1231,5] 6157,5] 7389 Lwwuh wpd
108 | tnyywidht 40 dg 5 G N 10 pulbet | 20 | 2514,5] 12572,5] 15087 Luwnuyh upd 2900| 14500] 17400|dwqu $upd
109 [ohuwgh$ 7500q  nuh/ubp punt | 20 | 2956,67| 14783,3|  17740|zkpuihink $upikg 3040| 15200 18240 Uwunugh dupu
110 [20pnufuungw Guibws 1% 154 huan 15 0 0 0 0
1 [2dpniuunyw Yuiiws 2% 154 hunn 20 0 0 0 0
112 Eqodbiuypuwgni Uwtnng 20dg N°14 hwp 196 4900 24500 29400|Zkpuhuk dumikg 6663,67| 333184 39982 Lwwnwh dupd
113 |Fuwjwwphy n/h 10dg N=20 hup 140 | 125,767] 628,833  754,6Lunnwih $rupl 163,333 816,667 980[ Lmqu pupl
114 | buw w-< n/h 10dg N=20 hwp 400 1400 7000 8400| zZkpuhuk $wupdkg 2160 10800 12960 | Lwwnuh bupd
115 {Enyahpnpu n/h 504dlig N2100 huwp 900 1932 9660 11592|Lunnwih $upd 2109 10545 12654|Mthpuunbp-Lunippnt
116 Enibhiht . 2,4% 5d) N210 upduy | 700 3811,5f 19057,5] 22869 |Lwwnuh upd 3850 19250 23100|dwmqu $upd
117 | Enphiht n/h 0,15g Ne30 husp 120 100 500 600|Luqu upd 106,4 532|  638,4|Lwwnunh upd
118 Fubiuighwyti . 5U) Ne5 uptuly 60 6739,2| 33696| 404352 wnnunh bupd 7000 35000] 42000|wam dupd
119 ltubughwit Hnpunk n/uy 3004dg N230 hup 180 2295 11475] 13770 Lwnuh $upd 2850 14250 17100|<lugqu $upu
120 Eulwpn Ywehiubp 304d; plulynt 15 547,35| 2736,75| 3284,1|Lwwnwh $upd 550 2750 3300 wmqu $upd
121 Enhppnihghti 400dq N2 10 huwp 50 | 566,833| 2834 17 3401 [ Lmmnunh Humd 600 3000 36004 mqu S
122 I:pbuu{l.ulozu,jnwL! 1500 blwlynu 20 7441.63| 37208,2| 44649, 8| Lwwnuh bwpd 7632,23| 38161.2| 45793,4| thhumnbin-Lunippnk
123 @tipwynt thno. Ne10 (Yhinpnt) jhuwptpe | 100 | 5268,67| 26343,3| 31612|Lunwnuth dupd 55683,33| 27916,7 33500 dmqu: pupd
124 | 3hwdhl wduy. 5% 10 N<10 undwly | 2000 | 6100] 30500 36600 Guwnuh bupd 6333,33] 31666,7| 38000 Lwqu Hupu
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125 | @hunn| wyuwlwphiubip 0,5%54; puuynu | 20 | 1292,53[ 6462,67| 7755.2|tpjuwntip-Lusippnt | 1320,13| 6600,67|  7920,8| Lnwnwgh puapu
126 (Fhnwtinwy bwwnphnwh upy. 1g upyul 30 11050 55250| 66300fLwuwuih dupd 0 0
127 | @npwd gnip hunp 20 | 933,333] 4666,67| 5600w h pupd 0 0
128 bpnuypndtiu n/h 0,2 N=10 hwp 300 268,5| 13425 1611 L h Swupd 325 1625 1950 dwmaqu b
129 | hdnnhnud n/uy N220 hwp 60 70 350 420|2kpuhuk $updkg 1600 8000 9600|dwqu $upd
130 [pdmipnu-duly 25 dg  n/ip upduy | 10 0 0 0 0
137 | hunndbunwghts punily 10% 40q wupymd 10 | 433,333] 2166,67|  2600|dwqu Hup 505,7| 25285 3034,2[tunwih $upmi
132 hnun-Skp 5000 whwe| 80 | 6373,33] 31866,7 38240[Lunnwh upd 0 0

handnipwu 100% 1004 hbnnwy
L] Sy pulnu | 25 | 54776,3| 273882| 328658 Lwmnwih dupd 0| 300000 0| Npndwpd UL
134 1| wlnn-2h n/uy N°10 hup 150 | 4337,5| 21687,5] 26025[Uwmuih upd 44814 224070| 268884|(thhuntp-Lunippnt:
135 [ wgnpwt  15dq/50] opwpuly 1004 puuynt [ 10 | 1333,33| 6666,67  8000|zkpupuk pwpikg | 1616,67| 8083,33|  9700[Lwqu pupu
736 [Lwqnidwt 30dg N50 hup 100 | 283,333] 1416,67]  1700|2zkpuhuk pupdtg | 366,667| 1833,33]  2200[dwqu pupd
137 | Lwihghy uppwipunily 1% 15q wupymd 5 | 1412,06 7060,29| 8472,35| Lununh $upd 3374,25| 16871,3] 20245,5(thjuinkip-Lunippnt
138 [ wuniay 100dg Ne 30 hwp 180 | 6825,9| 34129,5( 40955,4|(thjuwnbp-Lunippnk 0 0 0
139 || bquiinti 140 140dq  Ne 20 hwp 80 1480 7400  8880|Lwwnwih dupd 1483,33| 7416,67 8900| Mthhuntp-Lundppni
140 L-@hpopuhti 150 150dlyq  Ne 50 200 | 645,333| 3226,67 3872 Lunnwih dupu 667 3335 4002 (thjunkp-Lwdppnt
147 [ -rd¢hpopupti 100 100dlig  Ne 100 hwp 800 1896 9480 11376|Lunnuh pupd 2057,33[ 10286,7| 12344 (thjuwnkp-Lunippni
142 1| _ahpopupti 50  50ulg  Ne 50 hup 360 7344 3672| 4406.4|Vwnuwih $upd 8436 4218| 5061,6|Hhiuwnbp-Lunippnk
143 |Lhanuwipt hhapnpinphn wdw. 2% 20 N=10 | | 700 | 2668,17| 13340,8] 16009 Lwwnuh $upd | 2683,33] 13416,7 16100 g $upd
144 ;ngnuwmhh o s i upquy | 150 | 2071,5| 10357,5] 12429|vunnwih $uipy 2425 12125] 14550|Jwmqu dupd
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145 ;Qﬁ”““”h“h e puynu | 15 | 8573,05| 42865,3| 51438,3|thjuintip-Lunippni 8975| 44875 53850|dwqu pupu
146 Lhubipu n/uy N¢16 hwp 1680 29400| 147000 176400|Lunnuih S 30800( 154000 184800« Hupd
147 Lhuljwu opwpuwly 90| blulynt 10 1865,87( 9329,33| 11185,2| Luwnnurh dwupud 1900 9500 11400|dwgu pupud
148 Lhninnu-1000 nnunnn 30q wuwnynid 25 | 10059,1| 50295,6| 60354, 8| Lawnunh $upd 10572,5| 52862,5( 63435|thjuwnbkp-Lunippnb
149 Lhwpwghn 20 N230 hwp 360 28944 14472| 17366,4 | Lwunjh pupd 9000] 45000 54000|“4wqu pupd
150 |Lhwpny hizinnguijhls dndhlilitin 400dq N5 1500 | 20 2696| 13480| 16176|Uunnuwih pup 2400 12000|  14400|7wqu puiped
151 Lundhyni puntly 40q wunyng 140 63001 31500] 37800 '-imqm’ bupu 10097,5| 504875 60585 Lwunwuh bupd
15211 Lndhghnpt n/h 0,5 N¢10 huip 200 | 866,667| 4333,33]  5200|mqu puped 932,333] 4661,67|  5594[Lunnuyh prupd
153 [Lnphtunbt-3 15g wunpynd 5 | 1163,28] 5816,38| 6979,65| 1} juwntip-Lunippnt | 1307,07| 6535,33]  7842,4]

Lnphuinw <% 100 n/h 100dg/25dg Ne28 _
134 hwp | 360 5580 27900| 33480|Lunuih pup 6352,2| 31761 38113,2|(Mpjuwnbp-Lundp
155 Thynphinny n/h 20015g N=60 huip 780 3965 19825 23790|dwqu Huip 4786.6| 23933| 28719 6|Lunnmh Sl
156 |4uigngty 120q  N210 hwp 50 | 1591,67| 795833  9550|Luinwih pupi 1790,75| 8953,75| 10744 5|(thhunbp-Lunippni
157 | Ywihnuh whpdwuqwiwwn 10g thwptip [ 10 0 0 0 0
158 [uwihnuwh pinphn (ndnye 4% 1004 pwynu | 35 | 2216,67| 11083,3| 13300|Lwnwih wpid 0 0
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159 [yuyghnuwih pinphn wiyy. 10% 5uj N=10 unquy | 250 | 1361,25] 6806,25| 8167,5|Lwuwnuyh puptd 1375| 6875 8250[<mqu pwpd

160 | Yuwijhujun| wduy. 500dq 104} Ne5 updquly | 70 | 16965,6] 84827.8] 101793[nihhunty Lunippnt | 17814,3] 89071.5] 106886 uwinuih $wpi

161 Yugtidht ~ N230 hwp 480 3464| 17320 20784|dwgqu Jupu 4148| 20740| 24888|Lwwnwih pupl

162 Yunghundw n/h N227 hwp 270 | 1187,565| 5937,75| 7125,3|thfumnbn-Lndpnni 1320,3| 6601,5| 7921,8|Lunnuh dwpd
Ywighnu D3 dwdbint n/h 500dg/200UU _ .

163 Ne10Q hwp 1000 | 5333,33| 26666,7{ 32000|2kpuhuk pupdkg 6276,67| 31383,3 37660([thjuntip-Lusdppnh

164 Yuwighnwh gyniynuwn n/h 0,5 Ne10 hwp 500 | 484,167| 2420,83 2905| Lunaug s dupd 500 2500 3000{dwqu upud

165 Yughnth qniyntwn 10% 54 Ne10 upduy | 700 | 8283,33| 41416,7{ 49700|Lwmwnwmih wupd 8983,33| 44916,7 53900|2Epuhuk dupiltg

166 Yuwub$pnt L N260 hwp 540 7125,3| 35626,5| 42751,8| Lunnwih pupd 7200( 36000| 43200|<wqu pupid

167 Ywuywnnwphy n/h 25dq Ne40 hwp 2000 | 1266,67| 6333,33 7600 Lvwnwh pupd 1333,33| 6666,67 8000|dwmqu pwpd

168 Yuyptnnt wdyy. 20 N°10 upduty | 210 2625| 13125 15750 Lwnwh $wupd 3265] 16275 19530 dwmqu upd

169 Ywhtnnt n/h. 10dg N30 hwp 450 5217| 26085| 31302|ithpuunbp-Lunippnt | 6167,25| 30836,3| 37003,5| Lunnwih dwpd

170 [Quuypndhip Py | S 0 0 0 0

177 Ywindwfuninh hwunty n/h Ne50 huwp 5500 | 1741,67| 8708,33| 10450|Lwwnuh upd 1833,33| 9166,67 11000 dwqus pupud

172 Ywindwfunuinp ngbpnipd 304 puynu | 30 7941 3970,5| 4764,6|Lunwmih pwupd 900 4500 5400|dwqu pupd

173 Ywpnhinuht n/h 5dq Ne30 hwp 330 385 1925 2310 vwmwnuah Supd 5251,95| 26259,8| 31511,7|thjuwnkbp-Lwdppnh

174 Yuwpnhybn MHanwpn-40 n/h Ne50 huip 250 | 2166,67| 10833,3] 13000|Lwwuh dwupd 22501 11250 13500|dwgu dupd

8 Ywpnhn-UU n/h 100dg N220 huwp 100 395 1975 2370 Lunnuh dwpd 408,667| 2043,33 2452 | {(thjunbp-Ludppnb

176 Ywpnhndwglihy n/h 1500g N¢100 huwp 1300 | 4279,17] 21395,8] 25675|Lwwnwih dwupd 4448,17| 22240,8 26689 | Mthjuwmbp-Lundppnk

TeT Ywpnhndwaqupy n/h 750q Nel00 huwp 1440 4008 20040| 24048|uvwunuyh dupd 4519,2| 22596| 271152 thjuwmbp-Lunippnl

178 Ywpuhy Snpunb n/wy 90Ug N230 hwp 120 1499 4 7497| 89964 |Lunnuh hupd 1600 8000 9600 dwqu $upd

179 Ywpytnhin Uwtngng 12,50 N=30 hwp 192 | 622,067| 3110,33] 3732,4|Lwuwwih bupd 1184 5920 7104 wmqu wpd

180 Ywhpw n/h 400dg Ne5 hwp 40 1718,2 8591| 10309,2| Luwnwih upd 1794, 13| 8970,67| 10764,8|thiuunbip-Lunlppnt

181 Yiwphwnpu n/h 10dg Ne10 hwp 150 | 1434,75| 7173,75| 8608,5|'Lumunmah upd 2576,75| 12883,8| 15460,5| thjumbip-Lwdppnk

182 Ywhnpw n/th ig puynu | 30 1660 8300 9960| Lunnwh Hupd 0 0

183 Yihnu-+ N 10 hwp 30 702,75| 3513,75| 4216,5|*hhwntip-Lunippnb 785 3925 4710 wgu dupd

184 Yinunphdwgny htiguing. dndhy 100dg N=6 dndhy 30 500,5| 2502,5 3003 | Lunnw i upd 600 3000 3600(dwmqu dupd

185 Ynunphdwgny bppwpunty 1% 20q wuwplni 18 1819,95( 9099,75| 10919,7 | Lunnuih hwpd 2100f 10500 126004 mgqu $wpd

186 Ynljwppnpuhjwqu wiy. 50dg 2d) N25 upquy | 300 19250 96250 115500(<mgu $upu 20535| 102675| 123210|vwwwh dupd

187 Unlywpupwn 3ug N 3 upuily 60 23000 115000| 138000|wmgu Hupi 0 0 0

188 Yntlynp n/h 10dg N230 hup 360 19134 9567| 11480 4| awunugh dupd ~3360] 16800| 20160{lwqu Hpwpd

189 Unulynp n/h Sdg N=50 hwp 150 305,5| 15275 1833 | Lunnmgh buapdd 875 4375 5250(dmgw dupd

190 Yntlynp Ynp n/h 2,50 N=30 huwip 300 1000 5000 6000| L umqgum hwpd 23111 11555 13866 | Lunnuith pupd

191 Ynbwlhnu UU 2dg/0,2d] NS upyjuy 100 | 11966,7] 59833,3|] 71800 vuns i 12666,7| 63333,3 760004 wgw pupl

192 Ynpnhwdht wdwy. 25% 20 N210 upyuly 100 | 1983,33] 9916,67| 11900|Lwiunwh gl 20501 10250 12300 dwgu upd

193 Unpijuyny 251 $rulint 10 | 216667 1083,33 13004 mgm hupl 326,717| 1633,568| 19603 unnuth hupil
Un$bhU-buinphnuwip phignuin widwy. 20%

194 14 N°10 upduy | 150 980 4900 5880| Lwnuwh hupd 1000 5000 6000 wqgum dupd
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Cwinwtiphnni-Nhfuinbp Sdg/dp  1dp Ne 5.

195 upuily 30 498,7| 2493 5| 29922fLwuuih bupd 1125,45| 5627,25| 6752,7|thhiakp-Lusdppal
196 j;:;l:t;u;;n :nrhn:ﬁf:nirmqwumwwmp upduty | 15 16425 82125 98550(17 1 97500
197 | Cwfuhwjnwgiwt wuwwnnpuhl updusy | 10 300]  1500] 1800 Jwqurnih 0] 1950 g
Cwlwihwjnwgdwl ghéniy 10 N=5 _ _
198 |\ i Linnabts pruynu | 12 0| 42000 O] hpndupd URC 8500| 42500 51000 wiqnnish UNC
199 | Cwlwpnunnyhluiht ohinly unquly | 5 | 9916,67] 49583,3] 59500 Swugunth UTIC 0 0
200 Cwlwqwugptiing 2héniy upyjuwly 1 19000 95000| 114000(Uwqunkh UNLE 98000 O|ipnduwpd A0
207 [ Cwpuinhy 10dg. N228 huip 140 | 1212.4] 6062] 7274 4|vwinuh upd 2828| 14140| 16968
202 | cauwihg n/h N=30 hup | 90 | 777.3| 3886,5| 4663 8|Lwumwmh upd 0 0
203 ;Z%Uhunu g P AR 1509 undpy 30 1360 6800 8160 | Lunmw h upd 1500 7500 9000 | durqu pupd
204 <hdnnbiq jndnye 2504; $lwlynt 7 646,333| 3231,67 3878 | L h pupd 653,333| 3266,67 3920|dwqm pupd
205 Chiywpht upy. 5u; Net uputy | 100 17200( 86000 103200(vuwwnwih $upu 21666,7| 108333 130000|vdwqu dupu
206 | Chuyunpwy wnbinyd n/h ply huwp 60 | 10200] 51000] 61200[Lwwnwih $upd 10719,5| 53597,5|  64317|thjunbp-Lundppnts
207 <hnpnynpinhgnt wlwpunip  0,5% 3q wwpyng 10 1308 6540 7848[Lwwnuith upd 1666,67| 8333,33| 10000|9wqu $upd
208 | <hnpnynpinhgnti punip 1% 10g wuwpymd 10 | 416,667| 2083,33 2500|dmqu $upd 0 0 0
209 <hunphwghn 250 N220 hwp 140 | 261,333 1306,67 1668| L h pupd 280 1400 1680|9mqu pund
210 <bpuhiny 0,05 % 100 ) Py | 10 | 732,483| 3662,42| 43949 Lwwnuh pupd 725 3625 4350(dwmqu Jupd
277 [Uwqubi B6 n/h'Ne50 hwp 500 4250] 21250] 25500 vwwnwih $upud 4666,67] 23333,3| 28000|duiqu $uipd
212 |Vwqubighnuh unybwin wdw. 25% S N10 (0 [ 900 | 4410 22050 26460|vwmunh pupu 4500 22500 27000|dwqu pupd
213 |Uwlhpnp Ynd. hbp.dndhl 500dg N8 dndhy | 16 [202533] 10126,7] 12152[vunnwih dupu 2680] 13400] 16080|dwqu pupd
274 | Utinpny 4ug N=30 hup 480 | 25488| 12744| 15292 8| thjuntp-Lunippnt: | 2617,6] 13088 15705,6[Lwwnuwgh dwpd
275 [Utiquinnt 10dg/d; 1) N10 updquy | 30 379.8] 1899 2278,8| wwuyh pwpd 445 2225  2670|dwqu $upd
216 {Ubighu Snpunb npwdh 3 500UU N220 hwp | 1060 | 5441,33] 27206,7] 32648|Uwuiwih $upd 57558 28779 34534,8
Ubpnuinpbpuwin EPEYE 10dg/d) 1dp Ne10
il uhnwnbiwi/uwehittnwnbdwt indnue (urdwl 40 0 0 0 0
218 Ubiinpwhnwgni Lhindbn 500dg N20 hwp 500 3375 16875] 20250 vunwh hupd 3750 18750 22500 dmqu pupl
219 Utinpnuprnuigny 250dg  N10 hwp 100 | 83,3333| 416,667 500|dwmqu ppad 86,3333| 431,667 518 | Lunuih
220 |Utiinpnupnwqgn) Htnw nnunnn 1% 20g. [uwpyng 8 819,68| 4098 4| 4918,08[Lwnuh $upd 833,333] 4166 67|  5000[dwmqu pupd
221 Ubiinpnuhnwgny iménye 0,5% 1004} Ne1 wthwp| 160 | 6666,67| 33333,3] 40000|twnnuh Hupd 7200| 36000f 43200{dwgqu upd
222 |\ fhpuhnny 100dq/2d) Ne10 upquly | 450 | 21000] 105000| 126000ftunnunh dumi 0| 139500 ofnpngrand U
223 | yh9-400 n/h 400dq N=10 hup 300 1185] 5925  7110[vwwnugh Swpid 5486,5| 27432,5| 32919 fthhnnkp-Lunippnk
224 1Uhnwqbd . 150g/3d) N25 upduly | 5 1014.3] 5071,5] 6085,8| 1 hiuwl 1125] 5625  6750|<wqu P
225 | 1Thnnlywyd . 100dq 10) Ne5 updwty | 10 | 791,15| 3955 75| 4746 9| r+hhinkn-Lunippni 864 4320  5184[Lwnunh pumii
226 Uhnnluwd p/uj n/h 50dq N30 hwp 210 1353,1] 67655 8118,6|thhunkp-Lwippnt | 1488,93| 7444 67| 8933,6| Lunnuh bupd
227 |Uhlynpynt n/yy 150 dg N 1 hup 60 1000]  5000]  6000|zkpuhuk pupitg 1210[ 6050  7260|vwunwgh prupd
228 [Untin Nind Ninwpn n/w 40ug N=20 huip 100 0 0 0 0
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229 [Unp$hu h/p 1% 1dg upuly | 60 4200[ 21000] 25200(Upwpdughudp 0 0

230 Ununhthnd n/h 10 dg. N 30 hwp 60 925 4625 5550| Lwtnuip pupd 1330 6650 7980 Tmgu $upyd

231 Uniinp-tnwipu huwnbiupy hwp 200 |[2394,33| 11971,7] 14366|vwwnwih upd 0 0

232 3nn 5% 304; $julnt 20 740 3700 4440 Lunnunh bwpd 666,667 3333.33 4000({9mgqu dupu

233 [3nn 5% 1 thup 5 3607,5| 18037,5| 21645|Lwnwih pupy 3333,33| 16666,7| 20000|<wqu $Hup

234 Snnnuwphu n/h 200dg N=100 hwp 200 | 590,667| 2953,33 3544 | Lunnwh dupd 640 3200 3840| [ thputnbip-Lusdppni

235 3niupinnpu n/h 100dg Ne10 hwp 20 | 874,167| 4370,83 5245 Lunnuih pupd 917,467 4587,33| 5504,8|(thhinkp-Lunippnt

236 Snnbipu dwdniy 15q wupyng 1 0 0 0 0

237 Lwghyht ppwlwpehiutp 0,025% 104] $wlynu B 583,333| 2916,67 3500|twqu pupd 724,733| 3623,67| 4348,4|thjuwmbip-Ludppak

238 [Lwghyhu ppwlwphjutip 0,05% 104 Hrulynu S | 583,333 2916,67 3500|mqu dupd 724,733| 3623,67| 4348 4| thjunbp-Ludppnt

239 Luwlnd n/h N210 hwp 660 14795 73975| 88770|Lwwmwmih dupd 16500| 82500 99000|<wqgu: puupd
Lwwphnwh phnuny$wwn 300dg/d) 54 _

240 Nel0 upywl 110 | 838,567 4192,83] 5031 4| Lwwnwh bupd 861,667| 4308,33 5170(dwmqu hwupd

241 [Lwinphnuh hhgpnyuppntwun 8,4% 200 [$wyeu | 5 810] 4050|  4860|Lununh puipu 833,333 4166,67|  5000(wqu Hupu

242 [Gunphndh pinphn, wiwy. 0,9% 5U Ne10 Junquiy | 1500 | 7350] 36750] 44100[vunnuiih $uipd 7500 37500 45000[wqu pupu

243 [Lwnphnuih pinphn (nidnye 0,9% 1004; w/thwe| 300 | 12000] 60000 72000[vunnuih $upu 15000] 75000] 90000[dwqu $wpu

244 Lwunphnudp pinphn, (ndnye 0,9% 2504d; uy/thwe | 1400 | 58333,3| 291667| 350000|Lunwih upd 70000| 350000{ 420000|9wqw dpupd

245 [Lwwnphnwh pinphn, (nidnyp 0,9% 5000;  [ui/pwe| 1800 |  78000{ 390000 468000 uunnuiih puipi 90000| 450000{ 540000|<wqu Hupu

246 [L,wunphnuh pinphn (nidnype 10% 4000 wihwe| B8 6942 3471 41652 Cunwih Supd 0 0

247 Lwphub n/h Ne50 hwp 1800 7200f 36000| 43200j49wqwu duwpu 8241 41205| 49446|Lwunugh dupd
UGphiwn n/h Ne2o

248 hup 112 | 1885,33| 942667 11312|Lwnuh dupd 1828,77| 9143,83| 10972 6|thjuwnkp-Luippnk

249 Lbphiiinn Mynw 5/12,5 N228 hwp 504 | 13702,1] 68510,4| 82212,5| Lunnunh upd 14401,7| 72008,3| 86410](thunkp-Lunippni

250 [ Ubjunbipu wiuw-wlwbgwlwphiubp 50 |$wbnu | 3 0 0 0 0

251 Lbjpnpnipht wdwy. 3 Ne5 upyuwly 50 1166,67| 5833,33 7000|dugu Jupd 3630,92| 18154,6| 21785,5|Lwwmih dwupd

252 Ubijhgpwidnt n/w 5000 N256 hwp 672 | 14828,8| 74144| 88972 8| Luwwnwh hupd 16981,4| 84907,2| 101889|[thhunbkp-Luwdppnt

253 Uhubuhy n/thnoh . 2g N°30 thuptp | 120 1420 7100 8520|2kpihut dupkg 1740 8700 10440 Vunnuh upud

254 Lhwpn . 5da/dy 2d) N5 upwly 30 6140,4] 30702 36842 4|Lwwnwih dupd 0 0

255 | Lhuinpngihglipht-UU n/h 0,5ug N=40 husp 160 190,4 952| 1142 4| Lwuwh $wupd 0 0

256 | Uhpbinhuht npwdt 10dg Ne50 hwp 600 1476] 7380  8856|Lwnwih dupu 1800] 9000 10800|dwqu Hup

257 [Lhnipndbin. 220ug/50) 1004 puuynu | 90 | 27773,4| 138867 166640(Lurnuih $upu 29250| 146250( 175500|9wqu Hupd

258 [Unjhuypky Upghuht n/h Ne30 huip 360 | 66204| 33102| 39722 4|Lwwmwmih Hupd 6626,4| 33132| 39758.4|(thhunkp-Lusippnl

259 Unjhwpb Upghuht Snpwnb n/h N=30 hwp 660 | 17910,2] 89551 107461|ithiumbtip-Lunippnt | 17979,5| 89897,5] 107877 | Lununuth puipl

260 Lﬂ[hu{pb[ Ph-bnpwnk n/h 10dg/2,5dq Nz30  |hwp 600 19700] 98500 118200{Luwwnih dupd 19822 99110| 118832|Mthhswmbp-Lunfppnt

267 {njhght: 4004dg N20 hup 60 6654]  3327| 3992 4{Uwwwgh duy 1006] 5030  6036|(t}huwnbp-Luwdppnis

262 Un-Cuyw wdwy. 40uq 20 N225 unyuly 550 | 4865,67| 24328,3| 29194|Luunwjh dupu 5591,67| 27958,3 335650 | dwgm Hupu

263 Ln-Cuyw n/h 40dg N=100 hwp 700 910 4550 5460(Twgu pupd 933,333| 4666,67 5600 | Luvnujh dupud

264 Unynljwjht widuy. 0,5% 50 N=10 upquy | 500 | 2166,67| 10833,3] 13000|<dwqu Hupd 2178,33| 10891,7| 13070 uunmih bup

265 Unynlwjht jndnype 0,5% 250d; uthwp | 50 4150 20750 24900|vwwnuwih dupd 0 0 0
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266 | Lnyn-Nwupwn n/h Ne10 huip 90 2550] 12750] 15300[dwqu puwpd 2761,35] 13806,8] 16568, 1] Uwtnwih $up
267 [Unyn-Mwupwn (mdnype 22hYy 1004 $uuynu [ 10 0 0 0 0

268 ULnpunhywt 160dg hwp 90 15276 7638 9165,6|vwwnwmgh bupd 1700,85( 8504,25| 10205,1|{thhuwntip-Lundppnb
269 [Unipndtith jnidnye 1004 puynt | 25 | 3333,33[ 16666,7] 20000|iwuqu puipi 6183,71| 30918,5| 37102 3|/ +hhumnbp-Lunippni:
270 [ Muwwgwdbipht wdwy. 2% 20 N¥10 upduy | 800 | 4513,33[ 22566,7| 27080 Luwnuh pupu 4666,67| 23333,3|  28000|<wqu Hupu

271 Muwpwgbnwdng n/h 0,5g Ne10 hwp 700 525 2625 3150 dwgu pwupd 635,833| 3179,17 3815| Lwinwph pupd
272 [mwphyuw nidnyp L/ukp 1% 1004 wyhwp | 20 | 7333,33] 36666,7| 44000] Luwnmgh puipd 0 0 0

273 | Mbuwnwight L n/h Ne10 huwp 100 | 2417,17| 12085,8] 14503 Lwwnunh pupd 0 0 0

274 | Mbpubis n/h N=40 hwp | 400 0 0 0 0

275 | mhlynghun wwuwnbin Ne30 huwp 300 2200] 11000 13200[Uwnwih pupid 24295 12147,5]  14577|nthpunbp-Lundppnk
276 | Mppwgbnwd wdw. 20% 50 N=10 upuy | 850 | 5553,33] 27766,7] 33320[Vwnwih pupd 5666,67| 28333,3]  34000[Uwqu pupd

277 | Mhphnnpuht wduy. 5% 10 N=10 upuy | 2300 [ 6010,67( 30053,3| 36064|Lwwnwih dupd 6900| 34500| 41400|dwqu dupd

278 | Myyhbndp UV p/uy n/h 750q+750q Ne30  [hwp 420 0 0 0 0

279 [min$lin Yhp 1% 10ug/u| 20U N5 puynu | 30 4455| 22275| 26730 vwnuh dupy 6232,8] 31164] 37396,8|thjuuitip-Lunippnt
280 [ mnhqyniyhts jnidnye 2500 withwp | 15 2550| 12750 15300[Uunnwih $upu 0 0

281 | M hdhuwpu N12 dndhly | 60 | 4092,8] 20464| 24556 8[Lunnwih pupi 4350 21750 26100[dwqu $upu

282 [Mptipniyinwg UT n/h 350G N°60 hwp 900 6450 32250[ 38700[Uwwnunh dupu 8550| 42750| 51300|2kpuhuk puputg
283 [Mptumnwtu n/h 5uq N30 hup 720 | 18824,4] 94122| 112946 unnunh pupu 0 0 0

284 [Mntumwnhnid n/h 10dg N30 hwp 900 | 20440,5] 102203] 122643|(thhunkp-Lunippnt | 20482,5] 102413[ 122895[Lwnnuyh upd
285 | mnpnghunbipnte widyy. 2,5% 10 N°10 upduyy | 60 9800] 49000] 58800|Twmqu pupil 0 0 0

286 | Mnngbiphu-"hwpuhgw 0,05% 14 N10 upquy | 30 | 155,183] 775,917] 931, 1[vLwnnuyh Hupd 200] 1000  1200[Fwqu pupd

287 | Mpndtiunndty nnunnn 1% 80q wwpynd 5 | 3916,67( 19583,3] 23500(<lwqu pupu 3961,84[ 19809,2| 23771,1|vwnwp upd
288 Mpnyuin-gihybung 400dg N=10 Undhly 30 13497| 67485 8098 2| thjumbkp-Lunippnt | 1376,05] 6880,25] 8256, 3| Lwwnwh bupd
289 | Mpndtinn-2U  20dg/dy 14 N#100 upquy | 20 2600] 13000| 15600|Uppupiughwdrr 0 0

290 | Mpnunpuwt n/h 50uq N230 hwp 120 1000] 5000  6000|dwqu $wpu 3221,4] 16107| 19328,4|Lwwnwh upy
291 Mpnunwpgnih (ndnyp 2% 154) Huynt 3 185 925 1110} Luwnwgh dupd 250 1250 1500 dwqu $upd

292 Mhpbghnpny 33% 304 v | 10 166,5) 8325 999 | Lwnwth dupd 250 1250 1500 dmgqu wupd

293 2nwduh wbpopuhnh (ndnypp 3% 1004} $uuynu | 180 3330( 16650 19980(uwwnwih hwupd 3600| 18000 21600{dmqu pupd

294 Mtighnpnt n/thnoh 18,9g Nei thwptp | 800 | 27658,7| 138293| 165952|Luinunh dup 33333,3| 166667| 200000|luquw buwpd

295 MGwuhnd 10dg/1d; Ne50 upuiy | 350 5075 25375| 30450|vwmwnwuth bwpd 0 0 0

296 | N h$ ninhnwnhpuwiht 60dg+5dg Ne12 undhly 36 | 1131,48| 5657,4| 6788,88|Luinuh hupd 1452 7260 8712|dwmqu $upd

297 | nhinwnihayniyhts ;ndnype 25041 uprpwp| 20 | 3333,33] 16666,7] 20000[dumqu Hupil 3616,67| 18083:3] 21700|Lunawh pupd
298 | Ninwpnihy unquy | 6 | 2948.81| 14744,1] 17692 9N hhuwnkin- Ly 3600] 18000 21600|dwqu pupu

299 |Nihuglip (ndnype 2504 uhwe | 700 | 29166,7| 145833| 175000|Lwwunh Srapi 36166,7| 180833| 217000|dwgu pupd

300 [ nhugbip jndnye 5004 wy/hwpe | 600 26000{ 130000| 156000 twwmwih dupl 31000{ 155000| 186000|<mqu $upd

301 ﬂ-hl{whn[ 1004 $jwynt 70 1108,33] 5541,67 6650 ugw 1295 6475 7770 Luawnmgh upd
302 |Ywipnunuwsidng n/h 20g Ne24 hup 360 | 817.8] 4089 4906,8[Luwawih Supu 1560] 7800]  9360|-wqu Pupi

303 [Uwipnunwing gnnuighp 104 puwynu | 20 | 3191,67] 15958,3]  19150| (bpjuwnbip-Lundppnt 4000] 20000 24000|-dwqu Puipnd

304 lUwywphpu nnunnn 50q wwpyn 4 2495 3| 12476,5| 14971,8| Lunnunh $upy 2512,41| 12562,1| 15074,5|thhunbp-Lurdppnt
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305 | Uktwnbipuh n/h N<10 hup 700 700] 3500] 4200|uiquw pumpd 1417,5| 70875 8505 Luwtnwth $upu

306 Uhdqui n/h 20dq N228 hup 140 | 1983,33| 9916,67] 11900|Lwunwih dupd 2963,33| 14816,7| 17780 dwqm dupu

307 |Updwwpehy n/h Ne40 husp 160 | 1160,8] 5804| 69648 ihpuntip-Lunippnt | 1474,4] 7372 8846,4|Lwwnwh dupd

308 Uhuwbiwuh punty 0,025% 15q wuwplynig 10 313,033] 1565,17| 1878,2| Lwnunh dwpd 333,333| 1666,67 2000|dwmgu pupu

309 |Uhuwnndhght 5% 25 g wwpynd 5 2047 1023,5| 1228,2|Lunnwih Hrupd 291,667| 1458,33 1750 Lmiqu Hupd

S10 |Upuwnnuhghu 10% 25 g wwnyng 10 | 522,133[ 2610,67| 3132,8| Lwwnwh pupu 666,667| 3333,33 40004 mquw: pup

ST lUdblynw  3q Ne 30 thuptp | 60 1510  7550|  9060|Uwmnuth pup 1900 9500  11400|“wmqu $upu

312 lUnjynubiphy wduy. 50j Ne5 upduy | 20 | 4383,33]21916,7] 26300|Lunnwih puipi 4500,87| 22504,3] 27005 2[ithhuntip-Luwippnt
Unjynubiph) Hauwn dwéniy 2.125dq/q+10dg/q _

313 wwpymd 3 | 1040,98| 5204,9| 6245,88|Lunwih pwpd 1092,61| 5463,05| 6555,66|(thjuntp-Lundppnt

314 |UntinunhLnabnn. gy 1Bl 204 wupynd 5 1375| 6875| 8250 wqu $upd 1397,73| 6988,67| 8386,4| Lurnuyh upu

315 [Unwupnu n/thnoh . 100dg N¢10 thwptp [ 100 0 0 0 0

316 [Uny$nludbnyuights 10% 24 N=10 upquyy | 130 | 1132,52] 5662,58] 6795, 1| vwnnuigh hupul 1300]  6500]  7800|dwqu Puipi

377 [Unuypuunht wii. 10 N5 unquy | 200 | 951767 47588,3] 57106[Lwnwh wpd 9525,67| 47628,3| 57154 thawnbip-Lunippnh

318 [Unuypwuinht: n/h 25q N+20 huwp 360 | 23616 11808] 14169 6] wmnuh i 3600 18000] 21600|wmqum Hupf

319 |Uyywquwinnts n/hN=20 hwp 800 1460| 7300 8760|vwwnuh $upd 1533,33| 7666,67 9200|wqu pupd

320 |Yyhpun- pdoywljwts 70% 2504 puynu | 20 688,2 3441| 41292 vununh upd 1066,67| 5333,33 6400 “wmqu pupd

321 JUwhpun- pdolywljuis 96%1; ot | 60 | 10150[ 50750 60900} Liminuh Suipd 11000] 55000] 66000 dwmqu Huipi

322 |Uwhpu pdoluiljuls ohg 96% 0,5¢ puyn | 25 2125 10625 12750|Lwnwgh wpi 2791,67| 13958,3] 16750 <mqu $upd

923 Uwhpwn pdoljulyus ohg 96% 2504 $uynu | 10 444 2220 2664 | Lunawih $uipd 666,667| 3333,33 4000(dwaqu $wpd

324 Uwnnuyunniuht-Shun ogwpuly 1000 Pruwlynu 5 0 0 0 0
Uwnpbwuhyu (nquiiip N224 (dbnp L

325 | ooy huwp 192 | 2594,24| 12971,2| 15565,4| Lunnuith upu 2784 13920| 16704|dwqu Hwpd

326 Uinpn$uitinhts 4 . 0,0025% 103 Ne10 upduy | 400 2532 12660 15192 Lwwnuih dwpd 3000 15000 18000|Ymqu $upd

327 | Jwgnphy (ndnyp 36% 50q $ruwlynu 5 0 0 0 0 O|dwmqu pupd

328 Jwihnni n/h 60dg N=10 huwp 800 | 1013,33| 5066,67 6080| Luwnnwmih puip 1333,33| 6666,67 8000|<wgw huipd

329 |wnlynpnhu 2ohly 200y Huynu | 20 1704,2 8521| 102252 vuawnuh bupud 3166,67| 15833,3| 19000~ wgm dwpd

330 Ywyinpbipu n/h 500dg N210 huwp 20 24532 12266] 14719,2|Lunnwih upd 3083,33| 15416,7 18500 dwqu $pupul

331 | Qwp$wphts Lhyndtn 3ug N2100 hwp 200 | 980,667| 4903,33 5884 | Lunuijh il 0 0 0

332 |Jtighlywp 5dq hup 90 | 73086| 36543|43851,6[Lwwnunh prupd 7670,5| 38352,5]  46023|1h -Lunlpy
Jbubp "t & 600LU724d), 24; N10

333 upyuwl 20 | 5266,33| 26331,7{ 31598|Lwwnwh dwupd 5833,33| 29166,7| 35000|<wqu $upd

334 {4 bipwwwdhy n/h 80ug N230 hwp 90 2958 1479 1774,8| Lwwnwh hupu 345 1725 2070|dwgu Jupd

335 | Qtipnouhpnt n/h 25Uq N220 hup 220 | 1503,33] 7516,67|  9020[dwqu $up 1680,43| 8402.17| 10082,6Lwwnwh Hwp

336 | Ybtinnowhpnlu n/h 50dg N230 hup 990 1650] 8250] 9900|-lwqu Pwpd 11670,5| 58352,3] 70022,8]NJijuwnkp-Liwdppnk
Jdhqunbipuw 5dq/dj+Tdg/dy,

O bapy oo cpemtibe ekt pwynu | 9 | 4581,24| 22906,2| 27487 4| Lunnuwh dupd 5850] 29250| 35100|dwqu $wpd

338 Jhluwun widuy. 10dg/d) 1 Ne10 upduy | 200 3115 15575| 18690|Lwunwih pupd 0 0 0
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339 | yhuinwdht D-3 9pwihli (nidnype 104} upquy | 80 [ 10106.7] 50533,3] 60640 Luwwnwih $rapi 17333,3] 86666.7] 104000]<lwgqu pupi
340 Jhinwiht B hwiwihp wdy. 20; Ne10 upquwy | 130 | 2780,05] 13900,3| 16680,3| Lwwnuh $upd 2910,27| 14551,3| 17461.6| thhunkp-Ludppal
341 Jhunwiht B hwdwihp  N220 hwp 60 192 960 1182|dwmqu Jupd 207,9] 10395 1247 4|Luunwmih ol
Yhuwnpnd Mpbuwnw) Snpnt n/h Ne100
342 sl hwp 400 | 6225,33| 31126,7| 37352|Lwwnwjh upd 8066,67| 40333,3 48400| dwquw pupd
343 dUnjunwpbi Ednygly 20g wupyng 10 2677,98( 13389,9] 16067,9|!t}ijumbp-Lualppnt 2730,3| 13651,5| 16381,8| vwwmwgh upd
344 {Swduni n/uy 0,4dg N230 hwp 360 | 10697,4] 53487| 64184 4|pjunbkp-Lunippnt | 15418,8] 77094 92512,8|Lwwnwih wpd
345 | Swnipnt wlitwlwphjutip 4% 100 Pt | 12 0 0 0 0
346 | Shjuywights n/h N20 husp 300 1020 5100] 6120[dwqu pupd 1135,5| 56775  6813[Lwwnwh pupd
347 Stunpwluight 1% 104 Nel Ppruynu 5 1944 9720 11664 |vwwnwih dupd 2000| 10000 12000|dwqu dupd
348 | Stinpwghlyhtt wlbwpuniy 1% 3q wupynd 10 | 833,333| 4166,67| 5000 lmqu pupu 981| 4905 5886 | Lunntuh Hupu
349 | Stnpwghlyhts n/h 0,1g N=20 hwp 200 254 1270|1524 [vwwnwih pupd 300( 1500 1800|dwqu $upu
350 | Sknpwghlyht puniy 3% 15q wupynd 20 | 1269,33| 6346,67| 7616/ Lwwnuh $upd 1333,33| 6666,67 8000|dwqu Hupd
351 | Stipdhtiwt htipuing. dndhy N=6 undhl 60 3406,8] 17034| 20440,8| Luunwh unud 3590 17950| 21540|dwqu pupd
352 [ Skipwitipu N6O hwp | 240 | 5306,8] 26534] 31840,8[Lwinuyh puipu 6000| 30000] 36000|dwqu pupd
353 [Stininwpn 2000g  N=40 hwp 200 924 4620 5544 | Lunumh $upd 1000 5000 6000| dwqu pupud
354 | Snun'Clidus (nnye wdw. 10d; N=20 upquy | 100 | 1674,33| 8371,67| 10046|thpuwntp-Lunippni 0 0
355 [Spwlppnud wdwy. 2,50) Ne5 upquy | 150 | 19950] 99750] 119700|vunnuih $uipi 27500] 137500{ 165000<wqu $uipd
356 Spwidwnny wiuy. 100dq/2d) N25 upduy | 200 4493 22465| 26958|Lwwnwih bund 6000 30000{ 36000|%wqu bupd
357 | Spwitbtipuun 50dg/iy, 5u) Ne10 upduly 10 2657,1| 13285,5| 15942,6| Lunnwih dupd 3166,67| 15833,3| 19000|“9wgu dwpu
358 | Snwbipuwd 500ug N°10 hup 10 | 566,667 2833,33]  3400|Lwnwgh dund 666,667| 3333,33]  4000[lmqu Hupu
359 |Sphnbipd puniy 15 g wwpymd 5 | 1912,34] 9561,71| 11474,1|thpuwnbp-Lundppnt | 1938,12( 9690,58| 11628,7|Lwwnwh upd
360 Sphuythpuwd 100g+2,50g+10dg Ne30 hwp 60 2144 10720] 12864|Nhjunbkp-Ludppnt 2460 12300| 14760|dwmqu Hupd
36T |3tipkippnihqht wiw. 5 N°5 uquy | 15 | 5273,4| 26367| 31640,4|Lunuyh upd 5500| 27500 33000|dwqu $upi
362 Stpkippnihght wiy. 100) Ne5 upijuly 20 | 10004,4| 50021,8| 60026,2| Lwnumh upid 12000f 60000 72000 dwmgm Huipal
363 | 8kipnilw) wdy. 10dg/2d) N=10 unquyy | 450 3750 18750 22500|dwmqu pupl 4050 20250 24300/ Lunnumh rpd
364 | 3kipniywy n/h 10dg N°50 hwp 50 | 83,3333| 416,667 500|-wqu Hupd 1755 8775  1053|Lunnwih dupd
365 [8h$uwqniht U/ b /S upy. 1g pruaynu | 300 9000 45000| 54000|wqu Hupi 9550 47750] 57300[Lunnuh pupi
366 8L$blynu " dndhl 0,059 N=10 dndhy 100 7225 36125 4335 Lanmuih bwpd 750 3750 4500 d{wqu $upd
367 |8L$tilyntu "+ dndhly 0,1 N210 dndhy | 160 | 986,667| 4933,33]  5920|-Lwgqu Hupi 1332,8| 6664| 7996,8|Lwinwh dupd
368 Sk$unphwpunt b/t L 0/J upy. 1q $puynu | 1400 45500| 227500| 273000 Lwwuih upi 41766,7| 208833| 250600|9wqu puipi
369 | 8hulnpwjwiht wuy. 0,50g/dj 1dp Ne10 unquwy | 170 | 481,383| 2406,92] 2888,3|Lwwnuyh dupd 566,667| 2833,33]  3400[lwqu Pupd
370 | 8huwphahts n/h 258 Ne50 hup 800 | 306,667| 1533,33|  1840|uiqu Huupd 380 1900 2280 Lunmph dupu
371 | 8huly puniy 10% 40q wupynd 5 0 0 0 0
372 | 8hyypndinpuwght n/h 500dg N=10 hwp 400 2394 11970 14364|vwnwh il 2533,33]| 12666,7| 15200|dwqu $upd
S/3 | 8huinnt n/h N2100 hwp | 1400 | 8166.67| 408333 49000|<mqm 8526 42630| 51156 Lunnmh S
S74 | Nunpndtunuw n/uy 100dg N=30 hwp 120 2430| 12150| 14580|49waqum Hup 0 0 0
375 Nipnopuw ~ 250Ug  N=50 hwp 100 | 2338,33| 11691,7| 14030 thhunkp-Lunippnt | 2388,33| 11941,7]  14330|Lunnwih dupd
376 [ Lwihniph jnin 300} uunynd 10 0 0 0 0
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377 £inpwdpu P 0,34g thwptp | 50 7215| 36075 43290|vwwnuth dupd 0 0 0

378 | pinphbpupnhtp 20% 1) thunp 2 3885 19425 2331[vwwnwih $upd 0 0 0

379 | qwiwnby n/h 20ug N228 huwp 112 | 263,387] 1316,93| 1580,32|vwnwih puipii 280 1400]  1680|wwqu pupu

380 Pwdwwnby n/h 400g N=14 hwp 70 | 414,167| 2070,83 2485| Lunwh pupd 460,833 2304,17 2765|4mgqu Sl

381 LyJwdwinby 72,8 dg upy 20dg N=5 unyuly 40 4721,4| 23607| 28328,4|(rhhunkp-Ludppni 62316 31158 37389,6|Lwwnwh pupd
O$unwu Yuwnwppnd wyuwlwehp 104

382 |4 Lt puynt | 2 364,84| 1824,2| 2189,04|Lwwiuh puipu 366,667| 1833,33]  2200|9wqu pupu

383 g?nhn:ii;ufmjh ki upduy | 5 99000 495000| 594000 Uwiquanizh LN 0| 520000 0| Mpnupd UNC

384 [ Oubiwypuwigny n/uy 20dg N=30 hup 510 | 906,95| 4534,75| 5441,7|zkpuhuk upikg 1105] 5525  6630|Lunnwh pupd

385 |Ouunuynt 2% 1udq upquyy | 50 | 3791,67[ 18958,3] 22750[Upduipiwghwdar 0 0

386 | Quywntipu (nidnye 6% 5004 puynu | 8 | 4738,67] 23693,3 28432|Lwwnuh pupd 0 0 0

387 |Opuhppwy n/uy 30dg N220 hwp | 200 |5299,33] 26496,7] 31796 Lwwnunh pupd 6666,67[ 33333,3]  40000[<wqu $upd

388 [Opuhinnghl widuy. 10| N10 upquiy | 600 9000 45000 54000|<wqu Pupu 9100 45500 54600 Uwinwih puipd

389 | Quintingtiint 830Ug  N240 huwp 120 | 31512 15756( 18907,2|(thjunbp-Lwilppnk 3915| 19575| 23490|Lwwuwih $wpd

390 Jowphyht prh Yuwiehy 0.1 % 10 pulou | 5 | 1338,99] 6694,96| 8033,95| hjuintip-Lunippnls | 1365,15| 6825,75]  8190,9[Gunwh pupd

391 Owphuht pph Ywphy 0,05 % 10 dj $ruynt 5 1178,31] 5891,54| 7069,85|thjuwntip-Lunlippnt: | 1201,33| 6006,67 7208 Lunnwth pupd

392 |0wnpuywlu wlwlgh Yuphy 15 i gt | 5 | 822,517] 4112,58] 4935, 1|nhjunbp-Lunfppnt | 840,092] 4200,46| 5040,55]Cunnuih duipd

393 [$wumnnd Qb nnunnn 30q: wwplmd 20 2266,67| 11333,3] 13600fLwwnuih $upd 5029,1| 25145,5( 30174,6(thhnnbp-Lundppnb

394 | S bquid n/uy N=60 huwp 500 | 1825,83] 9129,17 10955|Vwwnunth $upu 3750 18750| 22500{dwqu $wpd

395 | $ktinwitihy 0,005% 2iq unquwl | 200 | 14000] 70000| 84000|Upbupiughudr 0 0

398 | ptipnud Ll Swdbynt n/h 100dg N¢30 huip 60 860 4300[  5160[Lunnwih i 980 4900  5880[wqu Pupi

S97 | Sbpnud Ll 0/d wdwy. 20; Ne5 upuy | 60 5450 27250| 32700[vLunnugh $upd 6920| 34600f 41520|v9wmqu Hupd

398 | Shunuyinpt wdyy. 2,50g/d) N225 upduy | 50 0 0 0 0 0

399 | b wydwidbin 15dq/54; 1004 gt | 10 [ 219527 10976,3] 13171,6[Lwwnuyh upd 2285,95| 11429,8] 13715,7[hhunkp-Luwdppnt

400 | % nuyntuingny n/uy 50dq N=10 hup 490 4165| 20825 24990|Lwwwh pupd 3838,33| 19191,7| 23030|2bpuhitk buipukg

401 &;lmgh'[u_up .QU"lLl 15q wwplyni 5 166,667| 833,333 1000fdmqu $upil 1086,9] 54345| 6521 4| thhunbp-Landppnb

402 | Dinpuwintipu whuwigh/wigph n/jufunype 104 $jwlnu 6 1800 9000 10800|<mgu pupl 1814 4 9072| 108864 | L h Huipid

403 bnphs n/h 5dq N=30 huwp 90 90 450 540 Luwnwh pupd 0 ; 0 0

404 | Snpdwih 37% thup 20 3330] 16650 19980|Lwwnuwh hupd 0 0 0

405 Snipwgnihnn n/h 50dg N#10 hwp 300 178,5] 8925 1071 [Lunnwh $apd 200 1000 1200|9mqu wpd

406 Dbnipwnnuhtu n/h 50dg Ne10 hwp 200 120 600 720 vwnwith pup 133,333| 666,667 800|dwqu $upi

407 Snipnubtidhn wdyy. 1% 2dp N=10 uptjuly 800 | 3533,33| 17666,7| 21200|1 autnuith $pd 3866,67]| 19333,3 23200 dmguw pupd

408 | Snipnubithn, n/h 40ug Ne50 hup 500 337,5| 1687,5]  2025[vunnwih dupii 375] 1875]  2250[dwmqu $upd

409 ijqumwnhu GRS B | 2 1462,53| 7312,67| 87752 Luunuih puip 0 0 0

bl Sbuhuwnhy uphy 0,1 % 20 4 Prunu o 1660,84| 8304,21| 9965,05|(thjuntip-Lundppnt | 1692,78| 8463,92| 10156,7 | Lunnwh pup
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83;150;210;232;233;248;368:;400 swhwpwdhuubipny hwuduwdnnnyp wnweohtu wnbinp gpwnbgpwé dwutwlhhg hwdwpbg «Lwnwih
dwpd » UNEC-hu , pwuh np dGpghtuu tpgwd swthwpwdhuubpny ubplywjwgpt) £ Gypwupwyutt nunbuwlwu dhnyejwt wunwd
tpypubiph wpunwnpnipwu wwpwupubp:

54,70;101;130;170,217,228,236,250,274,324,327,371,376;398 swiphwpwdhuutpny dpgnypep hwdwnpb) sywjwugwsd, pwuh np
Uwutwyhgutipp quwjptu  wnwownpyubipn  sku ubpluwywgpt:

110;111;157;267,278;315;345swhwpwdhuutpny  dpgnyep hwdwpby sywjwugwsd, pwuh np Uwutwyhgubph quwihu
wnwownlubpp pwpép Gu bwjuwhwoywihu qubphg:

5 swhwpwduny dpgnyep hwdwpb) suwjwgwsd, pwuh np Uwutwlygh quwiht  wnwownyh wnbluuhywlwu punyswaghpp sh
hwidwwwwnwutuwund hpwybipny bwuwwnbujwsd nbuthywywu punypwagphu:

Cwuduwdnnnyp npnatig’

Owunighip wnweht nbinp qpunbgpwd dwutiwyght ' 3 wluwwnwupwiht opdw pupwgpnd ubpljwjwgub) pupwgwywnghtu
dwutiwlgbnt hpuwdbpny bwhuwinbudwd' npulun]npdwt sunhwohoubphtt hwdwuwpuwnwufuwtunyymup hhduwdnpnn' hpubpnyg
Uwluwwnbudwd thwuwmwpnelipp, wnwownlyynn wwpwuph wujwunwp b nbjuthyuywu punyewgptipp (hpwytph hwybywsd 5):

Lwlstwdnnnydh hwenpr, bhuwnp hpwyhptip 2016pywywuh hnudwph 29-hu,dwdp 14:00-ht:
Cunnuydb) £ npnonud * ynnd -3, nbid - O :
7 N, e
Suwhwwnnn hwuduwdnnnyh bwfuwgwh WCM?‘? U.Ohwtowtjwl
Suwhwwnnn hwuduwdnnnyh wunwd / ﬁé/ / h. ®hgjut
SGuwhwuwnnn hwudtwdnnnyh wunwd / c’{%‘j / L. MGunpnujwu

Guwhwunnn hwiuduwdnnnyh pwpwnntqup /(Z[yu,(zf/ / U. Ywpnwjwu



